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D = 36000/6= 6000 sgyl lisy I=(O, x n.) /D :si 

2I=(C, xn, +C, xn, +C, x n, +C, Xn) / D 
I=(6000 x 121+ 9000x 59 + 3000 x 29 + 10000 x 29)/ 6000 
I=1634000 / 6000 ’ I= 272, 33DA , 

CV= (6000+9800 + 3000 + 10000) + 272,33 
V= 28000 + 272,33 

LV = 28272, 33D�F 

D= 36000/6 = 6000 ly E, = 

|A, = 4 xA0 
|2, + E, = 1961DA -7 

|A, = 0.4 xA 

.(ö01 yas s) 07 7-1 ile ili 

|4, = 0.4 xA 
A = 222000DA 

|4, = 0.4 xA 

E, = 

|(A x 35/ 6000) + (A x 18/6000) = 1961 
|A, = 88800DA 
A = 222000DA 

Durée : 1.5h 

Date: 21/05/2025 

A xn, 

|(A x 35/ 6000) + (0.4 x A, x 45/6000) = 1961 
|A, =0.4 x A 

D 
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A, X , 
D 

|A x 35 t A, x18 =11766000 

. C, = 2 x C, iigul C, cy l l G, 



C(1+1)' = 252495,4 : yal V= C(1+)" 

C x1,262476 = 252495, 4 ’ C, 200000DA 

C, = 2xC, ’ C, = 2x 200000 =’ O, = 400000DA(r. 

|200000 >x (1+ i) = 252495,4 ’0 

400000 x (1 + i)' = 535290,4 -O 

2x(1+i) = 2,12 ’1+ i=1,06 
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t= 6% : O de dslall iai 

t 1995 sis 10 & J,ly 

V,=Cx (1 +i)'" ’ V,= 200000 × (1.06)° V=267645, 12DA 

F5 
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